www.dingosupport.eu | www.futurevehicles.eu

'
Puture

L/ehicles

Final assembly manual

Title:

Document no.:

FINAL ASSEMBLY

D2_00_00
Revision:
R0O2
Title Document no. Revision Page Pages
Final assembly manual D2_00_00 Rev. 02 1 90



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

www.dingosupport.eu | www.futurevehicles.eu

Table of revisions

FINAL ASSEMBLY

Revision | Affected pages | Short description of change
00 All Original issue
01 All Tube added to tail wheel, dimensions added to aileron — wing assembly,
bolt lenghts corrected.
02 3, 37 - added General instructions updated, seatbelt guide added
Title Document no. Revision Page Pages
Final assembly manual D2_00_00 Rev. 02 2 90



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

.C —fq www.dingosupport.eu | www.futurevehicles.eu FINAL ASSEMBLY

General instructions:
* Get familiar with the POH and all the limitations stated in POH before the first flight!

« Mark all bolt connections &

* If you will need to get some extra bolts, always use 8.8 grade.
* It is the responsibility of each assembler, to check the grip lenght of the bolt and ensure, that the grip

lenght (g) matches, or exceeds the thickness (t) of connected parts.
* Cut bolts 1-3 threads behind the nut.

g<t g=t g>t

Title Document no. Revision Page Pages

Final assembly manual D2_00_00 Rev. 02 3 90



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

.C —fq www.dingosupport.eu | www.futurevehicles.eu

PART 1 — INSTALLATION OF RUDDER

Title

Document no.

Revision

Page

Pages

Final assembly manual

D2_00_00

Rev. 02

90

RUDDER


http://www.dingosupport.eu/
http://www.futurevehicles.eu/

.C —fq www.dingosupport.eu | www.futurevehicles.eu

D2 T1 00
1 pc

Standard parts

Bolt DIN 912 M6x35

1 pc

Title

Document no.

Revision

Page

Pages

Final assembly manual

D2_00_00

Rev. 02

90

RUDDER


http://www.dingosupport.eu/
http://www.futurevehicles.eu/

Step 1

Bolt DIN 212 Méx35 D1
D2_SP_01 Bushing 8x1

Rudder\

D2_SP_01 Bushing 8x1

www.dingosupport.eu | www.futurevehicles.eu

A

RUDDER

Bolt DIN 212 Méx35 D11

Part of fuselage

D2_SP_01 Bushing 8x1

D2_SP_0O1 Bushing 8x1

Part of fuselage

Title

Document no.

Revision Page Pages

Final assembly manual

D2_00_00

Rev. 02 6 90



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

www.dingosupport.eu | www.futurevehicles.eu

D2_SP_OIl Bushing 8xl1

Title

Document no.

Revision

Page

Pages

Final assembly manual

D2_00_00

Rev. 02

90

RUDDER


http://www.dingosupport.eu/
http://www.futurevehicles.eu/

www.dingosupport.eu | www.futurevehicles.eu RUDDER

Bolt DIN 212 Méx35 D11

D2_SP_01 Bushing 8x1 20.Jan.22
Rudder

Title Document no. Revision Page Pages

Final assembly manual D2_00_00 Rev. 02 8 90



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

www.dingosupport.eu | www.futurevehicles.eu

Title

Document no.

Revision

Page

Pages

Final assembly manual

D2_00_00

Rev. 02

90

RUDDER


http://www.dingosupport.eu/
http://www.futurevehicles.eu/

www.dingosupport.eu | www.futurevehicles.eu

PART 2 — INSTALLATION OF LANDING GEARS AND SETABELTS

Seatbelts

e

oy
i} I
sl

LANDING GEAR
+ SEATBELTS

HIBL

ey

Main landing gear

Title

Document no.

Revision

Page

Pages

Final assembly manual

D2_00_00

Rev. 02

10

90

Tail wheel



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

D2 Ul 50N
1 pc

D2 R 34N
4 pcs

D2 R 31N
4 pcs

D2_U1l 30N
1 pc

D2 Ul 40N
2 pcs

D2 U1l 10N
2 pcs

www.dingosupport.eu | www.futurevehicles.eu

LANDING GEAR
+ SEATBELTS

0—
T
O
Q

D2 U1 11N
4 pcs
D2_U1_ 12N
C = 2 pcs
D2 U1 13N
: ’ 1 pc
D2_F4_40N
Title Document no. Revision Page Pages
Final assembly manual D2_00_00 Rev. 02 11 90



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

—fq www.dingosupport.eu | www.futurevehicles.eu LANDING GEAR
Standard parts + SEATBELTS

Bolt DIN 912 M5x30 2 pcs
Bolt DIN 912 M5x40 4 pcs
Bolt DIN 912 M6x40 2 pcs
Bolt DIN 912 M6x75 5 pcs
Bolt DIN 912 M6x90 2 pcs
Washer DIN 125 M5 2 pcs
Washer DIN 9021 M6 18 pcs
Nylock nut DIN 985 M5 6 pcs
Nylock nut DIN 985 M6 10 pcs
Nylock nut DIN 985 M8 1 pc
Compression spring 2 pcs
Wheel 120 1 pc
Main wheel disk 2 pcs
Main wheel tube 2 pcs
Main wheel tire 2 pcs
Title Documentno. | Revision Page Pages

Final assembly manual D2_00_00 Rev. 02 12 90



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

www.dingosupport.eu | www.futurevehicles.eu LANDING GEAR

+ SEATBELTS
Step 1 D2_R_34N 10 o D2_R_i4N

Bolt DIN 912 M&x30 D& © b

D2 R 3] 25 = - - - - )
DIN 985 M5 Nylock Nut (= ) ] ] 7 — ~6

S Compression spring
120
D2_R_34N DIN 985 M8 Nylock Nut &0 Bolt DIN 912 M&x30 D8
Wheel 120
H/ Bolt DIN 912 M5x40 o D2_U1_13N\ N

/D2 _RE_31N open

@ DIN 985 ME Nylock Nut

Bolt DIN 912 M6x75

DIN 125 Washer Mé /@Comprewom spring
DIN 985 Mé& Nylock Nut

Bolt DIN 912 M5x40

DZ2_RE_31N open
DIN 285 M5 Nylock Nut—e
D2 R 34N

Title Document no. Revision Page Pages

Final assembly manual D2_00_00 Rev. 02 13 90



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

C —fq www.dingosupport.eu | www.futurevehicles.eu

D2_U1_50N

Bolt DIN 912 M6x75

DIN 125 Washer Mé

Wheel 120

DIN 285 M6 Nylock Nut

Title

Document no.

Revision

Page

Pages

Final assembly manual

D2_00_00

Rev. 02

14

90

LANDING GEAR
+ SEATBELTS



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

www.dingosupport.eu | www.futurevehicles.eu

D2_U1_50N

Wheel 120
DIN 985 Mé& Nvlock Nut
Bolt DIN 912 M6x75

DIN 125 Washer Mé

Title

Document no. Revision Page Pages

Final assembly manual D2_00_00 Rev. 02 15 90

LANDING GEAR
+ SEATBELTS



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

www.dingosupport.eu | www.futurevehicles.eu

LANDING GEAR

+ SEATBELTS

e/ DIN 985 M8 Nylock Nut

D2_U1_50N

Wheel 120

Title

Document no.

Revision

Page

Pages

Final assembly manual

D2_00_00

Rev. 02

16

90



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

—fq www.dingosupport.eu | www.futurevehicles.eu LANDING GEAR
(}3}@3 + SEATBELTS

Bolt DIN 212 M5x30 D

Compression spring o

DIN 985 M5 Nylock I\Jj

Bolt DIN 912 M5x40
D2 R 31N open

Title Document no. Revision Page Pages

Final assembly manual D2_00_00 Rev. 02 17 90



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

DZ_R_31N

Bolt DIN 212 M5x30 D8

DIN 985 M5 Nylock Nut

www.dingosupport.eu | www.futurevehicles.eu LANDING GEAR
+ SEATBELTS

D2_R_34N

Compression spring
D2_R_34N

D2_R 31N open
Bolt DIN 912 M5x40
DIN 985 M5 Nylock Nut

Title

Document no. Revision Page Pages

Final assembly manual D2_00_00 Rev. 02 18 90



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

—fq www.dingosupport.eu | www.futurevehicles.eu LANDING GEAR
(}3}@9 + SEATBELTS

.\’

'Q Bolt DIN 912 M&x30 D8

9=z R 31N
®D|N 985 M5 Nylock Nut
// D2_R_34N

Compression spring

Bolt DIN 912 M5x40 ., A D2 _R_24N
D2_R_31N open

DIN F85 M5 Nylock NUTﬁ

Title Document no. Revision Page Pages

Final assembly manual D2_00_00 Rev. 02 19 90



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

DIN 2021 Washer Mé
Bolt DIN 912 M6x90

DIN 985 M6 Nylock Nut  deu
% fﬁor DIN 912 M5x40 D18
ZQU”ON\DN 125 Washer M5

DIN 7021 Washer Mé

heel 300x100 V1

www.dingosupport.eu | www.futurevehicles.eu

DZ_UT_TTN-

DZ U1 _40n

Dz UT_12K

Bolt DIN 912 M6x75

—

DIMN 285 Ma MNylock Nut

DZ_U1_30N

DIN 021 Washer Mé&

DIMN 021 Washer Mé&
Dz U1 11N
DIN 2021 W asher Mé

DIN 285 Mé& MNylock Nut

DIN 985 Ms Mylock Nut
DIN 985 Mé& Nylock Nut
DIN S021 Washer Mé

N

D2_U1_1
DIN 985 Ms Mylock Nut
r/DH\I F021 Washer Mé&

JDQU]] Th

f

Bolt DIN 912 M6x75

DZ_U71_40nK

LANDING GEAR
+ SEATBELTS

Dz U1 _12M
DIN 2021 Washer Mé
/ Bolt DIN 912 M6x90

DIMN F021 Washer Mé&

Bolt DIN 212 Mbx40 D15

Dz U1 _10n
DIN 125 Washer J\/Lf)’%

DIN 285 M5 MNylock MNut

A

Whee! 300x100 V1

Title

Document no.

Revision

Page

Pages

Final assembly manual

D2_00_00

Rev. 02

20

90

DIN 985 M6 Nylock MNut
DIM 2021 Washer Mg



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

—fq www.dingosupport.eu | www.futurevehicles.eu LANDING GEAR
(}3}@3 + SEATBELTS

DIN 125 Washer M5
DIN 985 M5 Nylock Nut

Bolt DIN 912 M5x40 D11
DIN 125 Washer MS%
DIN 985 M5 Nylock NUt="" 1o 41 10N

Title Document no. Revision Page Pages

Final assembly manual D2_00_00 Rev. 02 21 90



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

—fq www.dingosupport.eu | www.futurevehicles.eu LANDING GEAR
@]@D + SEATBELTS

DIN 125 Washer M5
DIN 985 M5 Nylock Nut
Bolt DIN 912 M&x40 D18

D2_U1_30N

DIN 125 Washer M5
DIN 985 M5 Nylock Nut

Bolt DIN 912 Mb&x40 D18
D2 _U1_10N

Title Document no. Revision Page Pages

Final assembly manual D2_00_00 Rev. 02 22 90



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

www.dingosupport.eu | www.futurevehicles.eu

Bolt DIN 912 M6x90

DIN 9021 Washer Mé
/ :D2_U

DIN 2021 Washer Mé

DIN 985 Mé& Nylock Nut

D2_UT_10ON

DZ2_U1_30N

1_12N

D2_U1_40N

D2 U1 11 NF

Title

Document no.

Revision

Page

Pages

Final assembly manual

D2_00_00

Rev. 02

23

90

LANDING GEAR
+ SEATBELTS


http://www.dingosupport.eu/
http://www.futurevehicles.eu/

—fq www.dingosupport.eu | www.futurevehicles.eu LANDING GEAR
@]@D + SEATBELTS

Step 12

Bolt DIN 912 M6x90

DIN 9021 Washer M6

D2_U1_12N

.....
-

DIN 9021 Washer Mé

DIN 985 Mé& Nylock Nut

D2_U1_10N D2_U1_30N

Title Document no. Revision Page Pages

Final assembly manual D2_00_00 Rev. 02 24 90



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

—fq www.dingosupport.eu | www.futurevehicles.eu LANDING GEAR
+ SEATBELTS

Step 13

"

DZ_UT_TTN

D2_U1_40n

Bolt DIN 912 M6x90

DIN 2021 Washer M6

D2 U1 30N J
DIN 985 Mé Nylock Nut ' n V-
DIN 9021 Washer Mé

Title Document no. Revision Page Pages

Final assembly manual D2_00_00 Rev. 02 25 90



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

—fq www.dingosupport.eu | www.futurevehicles.eu LANDING GEAR
@]@D + SEATBELTS

DIN 985 M6 Nylock Nut

DIN 2021 Washer Mé

DZ_U1_40N

Whee! 300x100 V1

Title Document no. Revision Page Pages

Final assembly manual D2_00_00 Rev. 02 26 90



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

www.dingosupport.eu | www.futurevehicles.eu

DIN 2021 Washer Mé

DIN 985 Mé Nylock Nut

Title

Document no.

Revision

Page

Pages

Final assembly manual

D2_00_00

Rev. 02

27

90

LANDING GEAR
+ SEATBELTS

Wheel 300x100 V1


http://www.dingosupport.eu/
http://www.futurevehicles.eu/

—fq www.dingosupport.eu | www.futurevehicles.eu LANDING GEAR
@]@D + SEATBELTS

D2 Ul _40N

DIN 585 Mé& Nylock Nut

DIN $021 Washer Mé&

s

DZ2_U1_30N
D2_UT_10N

Wheel 300x100 V1

Title Document no. Revision Page Pages

Final assembly manual D2_00_00 Rev. 02 28 90



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

www.dingosupport.eu | www.futurevehicles.eu LANDING GEAR
+ SEATBELTS

....
o
"""
ot

DIN 985 M6 Nylock Nut
DIN 2021 Washer Mé

-
.....
‘‘‘‘‘‘
PRty
.....
,,,,,
e

S

-

Rt
-

D2 UT_TIN -
DIN 2021 Washer Mé e ’5] N 985 Mé Nviock Nut
e ylock Nu
Bolt DIN 912 M6X75 ‘e 1 DIN 9021 Washer Mé
D2 UT_1TIN

DIN 2021 Washer M6
Bolt DIN 912 M6x75

Title Document no. Revision Page Pages

Final assembly manual D2_00_00 Rev. 02 29 90



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

+ SEATBELTS

\ —

C —fq www.dingosupport.eu | www.futurevehicles.eu LANDING GEAR

e

t: 1

"_!

'
D2_U1_11N | e —i
\ o

DIN 2021 W asher Mé

Bolt DIN 912 M6x75

DIN 985 Mé& Nylock |
DIN 2021 Washer Mé¢

Title Document no. Revision Page Pages

Final assembly manual D2_00_00 Rev. 02 30 90



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

www.dingosupport.eu | www.futurevehicles.eu LANDING GEAR
+ SEATBELTS

Bolt DIN 912 M6x75
DIN 2021 Washer M?

DIN 985 Mé&6 Nylock Nut

DIN 9021 Washer Mé

Title Document no. Revision Page Pages

Final assembly manual D2_00_00 Rev. 02 31 90



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

www.dingosupport.eu | www.futurevehicles.eu LANDING GEAR
+ SEATBELTS

D2_F4_40N
DIN 2021 Washer M6
Bolt DIN 912 M6x40 L

Bolt DIN 912 M6x40
DIN 9021 Washer Mé

DIN 9021 Washer Mér e DIN 2021 Washer Mé
DIN 9021 Washer J\/\67 J / Bolt DIN 912 M6x75
DIN 985 Mé Nylock Nut ~
DIN 9021 Washer Mé

DIN 985 M6 Nylock Nut

Bolt DIN 912 M6x75 LQ

Title Document no. Revision Page Pages

Final assembly manual D2_00_00 Rev. 02 32 90



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

www.dingosupport.eu | www.futurevehicles.eu LANDING GEAR
+ SEATBELTS

Bolt DIN 912 M6x75

DIN 2021 Washer Mé
SafetyBelt

DIN 9021 Washer Mé
DIN 985 Mé Nylock Nut

Title Document no. Revision Page Pages

Final assembly manual D2_00_00 Rev. 02 33 90



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

www.dingosupport.eu | www.futurevehicles.eu LANDING GEAR
+ SEATBELTS

Bolt DIN 912 M6x75
DIN 9021 Washer Mé

DIN 9021 W asher Mé&
DIN 985 Mé Nylock Nut

Title Document no. Revision Page Pages

Final assembly manual D2_00_00 Rev. 02 34 90



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

www.dingosupport.eu | www.futurevehicles.eu LANDING GEAR
+ SEATBELTS

-
‘‘‘‘
N\ *

Bolt DIN 912 M6x40

DIN 9021 Washer Mé&

SafetyBelt

Title Document no. Revision Page Pages

Final assembly manual D2_00_00 Rev. 02 35 90



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

—fq www.dingosupport.eu | www.futurevehicles.eu LANDING GEAR
A + SEATBELTS

Step 24 - [ B R NP | UL N ) I LN B T
ol / Bolt DIN 912 M6x40

SafetyBelt

= * |
e ..-'. I
....

a.‘
3
L
_______
——————————

Title Document no. Revision Page Pages

Final assembly manual D2_00_00 Rev. 02 36 90



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

www.dingosupport.eu | www.futurevehicles.eu LANDING GEAR
+ SEATBELTS

Title Document no. Revision Page Pages

Final assembly manual D2_00_00 Rev. 02 37 90



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

.C —fq www.dingosupport.eu | www.futurevehicles.eu

PART 3 — INSTALLATION OF ELEVATOR

Elevator
D2-T0-00

Title

Document no.

Revision

Page

Pages

Final assembly manual

D2_00_00

Rev. 02

38

90

ELEVATOR


http://www.dingosupport.eu/
http://www.futurevehicles.eu/

.C —fq www.dingosupport.eu | www.futurevehicles.eu
D2_T0_00
1 pc

D2_SP_02

D2 T2 11N
1 pc

ELEVATOR

D2 T4 20N o —

2 pcs

1pc Standard parts

Bolt DIN 912 M6x45 1 pc

Washer DIN 125 M4 2 pcs

Washer DIN 125 M6 1 pc

Washer DIN 9021 M6 2 pcs

Nylock nut DIN 985 M4 2 pcs

Nylock nut DIN 985 M6 3 pcs

Cotter pin DIN 94-1,6x10 A2 2 pcs

Cotter pin DIN 94-1,2x8 A2 2 pcs

Edge trim 0,3m
Title Document no. | Revision Page Pages
Final assembly manual D2_00_00 Rev. 02 39 90



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

www.dingosupport.eu | www.futurevehicles.eu ELEVATOR

e s e



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

www.dingosupport.eu | www.futurevehicles.eu ELEVATOR

IN 985 Mé Nylock Nu
IN 9021 Washer Mé
212 1IN

otter pin DIN 94-1,6x10 A2

otter pin DIN 94-1,6x10 A
IN 2021 Washer Mé

IN 985 Mé Nylock Nut

Title Document no. Revision Page Pages

Final assembly manual D2_00_00 Rev. 02 41 90



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

www.dingosupport.eu | www.futurevehicles.eu ELEVATOR

Cotter pin DIN 94-1,6x10 A2

D2_T2_11N

DIN 2021 Washer Mé
DIN 985 Mé Nylock Nut

Horizontal

Title Document no. Revision Page Pages

Final assembly manual D2_00_00 Rev. 02 42 90



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

C —fq www.dingosupport.eu | www.futurevehicles.eu ELEVATOR

Horizontal

Cofter pin DIN 24-1,6x10 A2
DIN 285 Mé& Nylock Nut

DIN 9021 Washer Mé

DZ2_TZ2_T1TN

Title Document no. Revision Page Pages

Final assembly manual D2_00_00 Rev. 02 43 90



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

www.dingosupport.eu | www.futurevehicles.eu ELEVATOR

D2_T4_20N

D2_SP_02
DIN 125 Washer M4

~.,
~.,
~..,
~.,

Title Document no. Revision Page Pages

Final assembly manual D2_00_00 Rev. 02 44 90



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

www.dingosupport.eu | www.futurevehicles.eu

ELEVATOR

Title

Document no.

Revision

Page

Pages

Final assembly manual

D2_00_00

Rev. 02

45

90



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

www.dingosupport.eu | www.futurevehicles.eu ELEVATOR

DIN 985 Mé& Nylock Nut

DIN 125 Washer Mé

Elevator pushrod 3

Bolt DIN 912 M6x45

Title Document no. Revision Page Pages

Final assembly manual D2_00_00 Rev. 02 46 90



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

www.dingosupport.eu | www.futurevehicles.eu ELEVATOR

I e rim S

Title Document no. Revision Page Pages

Final assembly manual D2_00_00 Rev. 02 47 90



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

Step 9

www.dingosupport.eu

| www.futurevehicles.eu

Title

Document no.

Revision

Page

Pages

Final assembly manual

D2_00_00

Rev. 02

48

90

ELEVATOR

D2_T2_13N

D2_T2_ 12N


http://www.dingosupport.eu/
http://www.futurevehicles.eu/

.C —fq www.dingosupport.eu | www.futurevehicles.eu WING

PART 4 — INSTALLATION OF WINGS
LEFT SIDE — RIGHT ONE SYMMETRICAL

—————— | E—— | ——— —————

il o e 0y TAC _’. -:f?]l_ill '__i' R
im0 0 00 0 0 O
7 ~
Title Document no. Revision Page Pages

Final assembly manual D2_00_00 Rev. 02 49 90



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

.C —fq www.dingosupport.eu | www.futurevehicles.eu WING

Wing upper
D2 _WO0_00
1+1 pcs
Wing Lower
D2 _WO0_00
1+1 pcs
Strut D2_W32_01 0 {]
D2_W3_00 1+1 pcs
1+1 pcs
D2 W33 01
1+1 pcs
D2 W33 01
1+1 pcs T —
Title Document no. Revision Page Pages

Final assembly manual D2_00_00 Rev. 02 50 90



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

D2 W3 14N
6+6 pcs

D2 W3 15N
1+1 pcs

D2 W3 20N
2 pcs

D2 W3 21N
2 pcs

D2 W3 22N
1+1pc

www.dingosupport.eu | www.futurevehicles.eu

,
\/ ®

WING

D2 _SP 03
1+1 pcs

D2 SP 03
4+4 pcs

[rm—
=

Bolts DIN912 M6
+

Nuts DIN985 M6
(As alternative)

- /

D2 W4 03N
1 pc

D2_W4_01N

1+1 pcs

D2 W4 02Ny
1+1 pc

Title

Document no.

Revision

Final assembly manual

D2_00_00

Rev. 02



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

www.dingosupport.eu | www.futurevehicles.eu WING

Standard parts

Bolt DIN 912 M5x40 2+ 2pcs

Bolt DIN 912 M6x35 3+ 3 pcs

Bolt DIN 912 M6x40 2 +2pcs

Bolt DIN 912 M6x45 4 + 4 pcs

Washer DIN 125 M5 4 + 4 pcs

Washer DIN 125 M6 16 + 16 pcs

Nylock nut DIN 985 M5 2 + 2 pcs

Nylock nut DIN 985 M6 7+ 7 pcs

Cotter ring 28x2 5+ 5pcs

Edge trim 2+2m

Rivet Al 3,2x7,9 6+6

Velcro 0,5+0,5m
Title Document no. | Revision Page Pages
Final assembly manual D2_00_00 Rev. 02 52 90



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

C —fq www.dingosupport.eu | www.futurevehicles.eu WING

Bolt DIN912 M6x45

. P

Nut DIN985 M6
Washer DIN125 M6

D2_SP_02
(DIN 912 M6x45)

Title Document no. Revision Page Pages

Final assembly manual D2_00_00 Rev. 02 53 90



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

www.dingosupport.eu | www.futurevehicles.eu

D2 W34 01N Rope 3 7|

Title

Document no.

Revision

Page

Pages

Final assembly manual

D2_00_00

Rev. 02

54

90



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

C —fq www.dingosupport.eu | www.futurevehicles.eu WING

D2_W33_01N Rope 2

DZ2_W34_0IN Rope 3

! Bolt DIN 912 M5x40

DZ2_W3_22N

DIN 125 Washer M5
A % ME Nylock Nut
IN 285 M5 Nylock Nut
m/' DIN 125 Washer M5
D2_SP_03 (DIN912 M6x40) Stainless Steel Cotter Ring 28x2
DIN 125 Washer pM&7 DIN 125 Washer Mé

Title Document no. Revision Page Pages

Final assembly manual D2_00_00 Rev. 02 55 90



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

—

D2_SP_03 (DIN912 M6x40)
DIN 125 Washer Mé D2 W3 22N

www.dingosupport.eu | www.futurevehicles.eu WING

D2_W34_0OIN Rope 3
D2_W33_01N Rope 2

Bolt DIN 912 M5x40

Bolt DIN 912 M5x40

Stainless Steel Cotter Ring 28x2

Title

Document no. Revision Page Pages

Final assembly manual D2_00_00 Rev. 02 56 90



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

www.dingosupport.eu | www.futurevehicles.eu

KKKK

Bolt DIN 912 f

M6x45

Title

Document no.

Revision

Page

Pages

Final assembly manual

D2_00_00

Rev. 02

57

90

WING



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

C —fq www.dingosupport.eu | www.futurevehicles.eu WING

Bolt DIN 912
M6x45

Bolt DIN 912

D2_W33_01IN Rope 2

D2 W34 01N Rope 3

Title Document no. Revision Page Pages

Final assembly manual D2_00_00 Rev. 02 58 90



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

M6x45 Bolt DIN 912

M6x45

Bolt DIN 912
M6x45

D2_W33_01IN Rope 2

Strut

DZ_W34_ 01N Rope 3

D2_W33_0IN Rope 2

Bolt DIN 912

Méx45 ~—~_

Title Document no. Revision Page Pages

Final assembly manual D2_00_00 Rev. 02 59 90



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

C —fq www.dingosupport.eu | www.futurevehicles.eu WING

Safety wire

Bolt DIN 912
M6x45

D2_W33_OIN Rope 2

Strut

Title Document no. Revision Page Pages

Final assembly manual D2_00_00 Rev. 02 60 90



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

www.dingosupport.eu | www.futurevehicles.eu WING

Strut

Bolt DIN 912
M6x45

Safety wire

D2_W34_OIN Rope 3

Title Document no. Revision Page Pages

Final assembly manual D2_00_00 Rev. 02 61 90



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

www.dingosupport.eu | www.futurevehicles.eu WING

D2_SP_03 (DIN 912 M6x45) DIN 125 Washer M6&

9 Stainless Steel Cotter Ring 28x2

Q
DIN 125 Washer Mé |
* e
2
Y AV W . -
= =
e —
Qo
I
e
3 e
o
\
Title Document no. Revision Page —

Final assembly manual D2_00_00 Rev. 02 62 90



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

www.dingosupport.eu | www.futurevehicles.eu

Title

Document no.

Revision

Page

Pages

Final assembly manual

D2_00_00

Rev. 02

63

90

WING


http://www.dingosupport.eu/
http://www.futurevehicles.eu/

www.dingosupport.eu | www.futurevehicles.eu

Title Document no. Revision Page Pages

Final assembly manual D2_00_00 Rev. 02 64 90



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

www.dingosupport.eu | www.futurevehicles.eu WING

D2_F4_35N

P0026A103_18-8 Stainless Steel Strong-Hold Wire-Snap Cotter Pin

Title Document no. Revision Page Pages

Final assembly manual D2_00_00 Rev. 02 65 90



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

C —fq www.dingosupport.eu | www.futurevehicles.eu WING

/‘

55
//“/

)
=

//

%

\ 78
k)
o D2_SP_02 (DIN 912 M6x35) \\\

DIN 125 Washer Mé l\\
19

Stainless Steel Cotter Ring 28x2

Title Document no. Revision Page Pages

Final assembly manual D2_00_00 Rev. 02 66 90



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

www.dingosupport.eu | www.futurevehicles.eu

D2_SP_02 (DIN 912 M6x35)

Stainless Steel Cotter Ring 28x2

DIN 125 Washer Mé

Title

Document no.

Revision

Page

Pages

Final assembly manual

D2_00_00

Rev. 02

67

90

WING



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

.C —fq www.dingosupport.eu | www.futurevehicles.eu

s

N Rope 1

D2 W32 01
l

-
Ko
-t
o
-
.-’.

Title

Document no.

Revision

Page

Pages

Final assembly manual

D2_00_00

Rev. 02

68

90

WING


http://www.dingosupport.eu/
http://www.futurevehicles.eu/

www.dingosupport.eu | www.futurevehicles.eu

i | PRI

B | .eeaen
.
&
E
e
=
A
.....
o
PG S
e -
T ¥ 5
................
i it T A e
A e SN
Hd . x fon
5 ks
A

— T

= b
" - el
¥ =
——e e es
-+ = B 5
5 5-& o = :
) s S

2_W32_0IN Rope 1

WING

Title

Document no. Revision Page

Pages

Final assembly manual

D2_00_00 Rev. 02 69

90



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

C —fq www.dingosupport.eu | www.futurevehicles.eu WING

et
-
.....

DIN 285 WM& Nylock Nut

DIN 125 Washer Mé&

Bolt DIN 212 Mox35 D11

Title Document no. Revision Page Pages

Final assembly manual D2_00_00 Rev. 02 70 90



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

C gﬁ' www.dingosupport.eu | www.futurevehicles.eu WING

D2_W32_01N Rope 1

D2_SP_02 (DIN 912 M6x40)

DIN 125 Washer Mé

Stainless Steel Cotter Ring 28x2

Title Document no. Revision Page Pages

Final assembly manual D2_00_00 Rev. 02 71 90



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

.C —fq www.dingosupport.eu | www.futurevehicles.eu WING

Step 15
A
Edge trim
D2 W4 01N
i (02N, 04N, O5N)

D2_W4_01N

D2_W4_04N

““““

D2_W4 02N
D2_W4_05N

Double-side
tape

Title Document no. Revision Page Pages

Final assembly manual D2_00_00 Rev. 02 72 90



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

www.dingosupport.eu | www.futurevehicles.eu

Velcro +

Double-side

tape

Title

Document no.

Revision

Page

Pages

Final assembly manual

D2_00_00

Rev. 02

73

90

WING


http://www.dingosupport.eu/
http://www.futurevehicles.eu/

www.dingosupport.eu | www.futurevehicles.eu

D2_W4 03N

Velcro +
Double-side
tape

Title

Document no.

Revision

Page

Pages

Final assembly manual

D2_00_00

Rev. 02

74

90

WING


http://www.dingosupport.eu/
http://www.futurevehicles.eu/

.C —fq www.dingosupport.eu | www.futurevehicles.eu

PART 5 — INSTALLATION OF AILERONS
LEFT ONE — RIGHT ONE SYMMETRICAL

AILERON

Title

Document no.

Revision

Page

Pages

Final assembly manual

D2_00_00

Rev. 02

75

90



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

.C —fq www.dingosupport.eu | www.futurevehicles.eu AILERON

Aileron left
D2 W0 01 y
1 pc B 4
Aileron right , - - '
D2 W0 _01 ‘ &8 |
1 pc
D2 Wl AN e —
3+ 3 pcs
Standard parts

Bolt DIN 912 M6x40 1+ 1 pcs

Washer DIN 125 M6 1+ 1 pcs

Nylock nut DIN 985 M6 1+ 1 pcs

Rubber sealing 3+3m

Title Document no. Revision Page Pages

Final assembly manual D2_00_00 Rev. 02 76 90



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

.C —fq www.dingosupport.eu | www.futurevehicles.eu AILERON

Step 1

W-BottomLeft

.....
Re 0 0T

Left Alleron

Title Document no. Revision Page Pages

Final assembly manual D2_00_00 Rev. 02 77 90



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

.C —fq www.dingosupport.eu | www.futurevehicles.eu AILERON

Step 2

W-BottomlLeft

Left Aileron

Title Document no. Revision Page Pages

Final assembly manual D2_00_00 Rev. 02 78 90



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

Step 2A-1

www.dingosupport.eu | www.futurevehicles.eu

A

AILERON

Title

Document no.

Revision

Page

Pages

Final assembly manual

D2_00_00

Rev. 02

79

90



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

Step 2A-2

www.dingosupport.eu | www.futurevehicles.eu

Title

Document no.

Revision

Page

Pages

Final assembly manual

D2_00_00

Rev. 02

80

90

AILERON


http://www.dingosupport.eu/
http://www.futurevehicles.eu/

www.dingosupport.eu | www.futurevehicles.eu

AILERON

MNut Nyloc hMé, Stainless Steel AZ DIN $85

Washer flat DIN 125A M5

Bolt DIN912 M6x40

Alleron pushrod 2

Title Document no. Revision Page Pages

Final assembly manual D2_00_00 Rev. 02 81 90



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

www.dingosupport.eu | www.futurevehicles.eu

Rubber seal

Title

Document no.

Revision

Page

Pages

Final assembly manual

D2_00_00

Rev. 02

82

90

AILERON


http://www.dingosupport.eu/
http://www.futurevehicles.eu/

.C —fq www.dingosupport.eu | www.futurevehicles.eu

If required, you can make drain holes on following spots:

DRAIN HOLES

Title

Document no.

Revision

Page

Pages

Final assembly manual

D2_00_00

Rev. 02

83

90



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

C —fq www.dingosupport.eu | www.futurevehicles.eu DRAIN HOLES

Title Document no. Revision Page Pages

Final assembly manual D2_00_00 Rev. 02 84 90



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

www.dingosupport.eu | www.futurevehicles.eu DRAIN HOLES

P S~ o 2/ I 0 R

Title Document no. Revision Page Pages

Final assembly manual D2_00_00 Rev. 02 85 90



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

.C —fq www.dingosupport.eu | www.futurevehicles.eu DRAIN HOLES

Title Document no. Revision Page Pages

Final assembly manual D2_00_00 Rev. 02 86 90



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

www.dingosupport.eu | www.futurevehicles.eu

CONTROL SURFACES

Elevator

DEFLECTION

Title

Document no.

Revision

Final assembly manual

D2_00_00

Rev. 02



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

www.dingosupport.eu | www.futurevehicles.eu

2056

LEVELLING

1915
1845

"~

b
QE .-': :
® o
)
2849
4567

Title Document no. Revision Page Pages
Final assembly manual D2_00_00 Rev. 02 88 90



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

www.dingosupport.eu | www.futurevehicles.eu

6570

LEVELLING

2083

2,58°

1084

Title

Document no.

Revision

Page

Pages

Final assembly manual

D2_00_00

Rev. 02

89

90



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

C —fq www.dingosupport.eu | www.futurevehicles.eu LEVELLING
& 0 \
| T \ 2
| A\ R R
; 2 3 \\
B Y —
529 326
378,5 66
974
Title Document no. Revision Page Pages
Final assembly manual D2_00_00 Rev. 02 90 90



http://www.dingosupport.eu/
http://www.futurevehicles.eu/

	Výchozí oddíl
	Snímek 1
	Snímek 2
	Snímek 3

	Rudder
	Snímek 4
	Snímek 5
	Snímek 6
	Snímek 7
	Snímek 8
	Snímek 9

	Landing gear and seatbelts
	Snímek 10
	Snímek 11
	Snímek 12
	Snímek 13
	Snímek 14
	Snímek 15
	Snímek 16
	Snímek 17
	Snímek 18
	Snímek 19
	Snímek 20
	Snímek 21
	Snímek 22
	Snímek 23
	Snímek 24
	Snímek 25
	Snímek 26
	Snímek 27
	Snímek 28
	Snímek 29
	Snímek 30
	Snímek 31
	Snímek 32
	Snímek 33
	Snímek 34
	Snímek 35
	Snímek 36
	Snímek 37

	Horizontal tail
	Snímek 38
	Snímek 39
	Snímek 40
	Snímek 41
	Snímek 42
	Snímek 43
	Snímek 44
	Snímek 45
	Snímek 46
	Snímek 47
	Snímek 48

	Wing Installation
	Snímek 49
	Snímek 50
	Snímek 51
	Snímek 52
	Snímek 53
	Snímek 54
	Snímek 55
	Snímek 56
	Snímek 57
	Snímek 58
	Snímek 59
	Snímek 60
	Snímek 61
	Snímek 62
	Snímek 63
	Snímek 64
	Snímek 65
	Snímek 66
	Snímek 67
	Snímek 68
	Snímek 69
	Snímek 70
	Snímek 71
	Snímek 72
	Snímek 73
	Snímek 74

	Aileron instalation
	Snímek 75
	Snímek 76
	Snímek 77
	Snímek 78
	Snímek 79
	Snímek 80
	Snímek 81
	Snímek 82

	Drain holes
	Snímek 83
	Snímek 84
	Snímek 85
	Snímek 86

	Control surfaces deflection
	Snímek 87

	Levelling
	Snímek 88
	Snímek 89
	Snímek 90


